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1. Prove that for all nonnegative integers n * 1+3+5+......... +2n-D=n* -
(15%)
2. Prove that a forest with » verticesand m componentshas n-m edges.
(15%)
3. What is the coefficient of x’y° in the expression (2x-»)"? ? (15%)
4. What value of X is printed by a computer that runs the following
program segment? Justify your answer. (Assume N>=3) (15%)
X =0
FOR 7:=3 TO N DO
FOR J:=2 TO I-1 DO
FOR K:=1 TO J-1 DO
X=X+]
PRINT X
b, WRAE (20%)
a,=5a , a,20, a,=2; tKa,2M -
6. Let the grammar G be defined by (20%)

S —> AB B—>a A— Aa
B—Sh A—>bB

Give derivation trees for the following sentential forms :
(A) baSb
(B) baabaab




